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− 4 =

5
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|ZP| = a � |RT| = b. (2)
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|PX| =

|XR|
|RT|
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a

1
=

1

b
, ��� a · b = 1. (3)
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PΔZQT =
1

2
· |ZQ| · |QT| =

1

2
(|ZP| + 1)(1 + |RT|)

(2)
=
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2
(a + 1)(1 + b) =
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2
(a + ab + 1 + b)

(3)
=

1

2
(a + b + 2). (4)
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a + b = 3. (5)
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|YP| : |YZ| = |YZ| : |PZ|. (6)
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m : n = n : (m−n) ��� n2+mn−m2 = 0, (7)
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